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g4 4 P - e e Y Wy, b iﬁ b Ce bq Cq
5 i (g/cm’) (;) i% o (kN/m*) %) %) ?% Ip () | (kPa) (E%Z (ka?
([ER) [ (EER) | (PREY) [ (Pesd)

1-1-1 ko BRG t 1.89 | 28.9 | 2.72 [ 0.855| 18.9 34.4 | 20.2 ]| 0.61 | 14.2 | 15.6 | 37.0

1-1-2 i kG 1.83 | 35.6 | 2.73 | 1.035| 18.3 38.4 | 21.7 ] 0.83 | 16.7 | 12.5 | 28.0

2-1 T8 o RS £ 1.73 | 45.6 .74 [ 1.306 | 17.3 40.8 | 22.6 | 1.26 | 18.2 | 7.3 15.9 | 3.3 9.9
2-2 e 1.62 | 57.0 | 2.75 [ 1.665| 16.2 48.1 | 25.5 | 1.39 | 22.6 | 6.8 | 15.5 | 3.5 8.6
3 T Ve kG 1.71 | 46.4 | 2.74 | 1.342| 17.1 41.4 | 22.8 | 1.28 | 18.6 | 7.2 | 16.0 | 3.5 | 10.5
4-2 ki kG 1 1.95 | 25.2 | 2.72 [0.746 | 19.5 32.5 | 19.4 | 0.44 | 13.1 | 18.0 | 43.5 | 15.9 | 35.8
4-2-1 kit 1.75 | 41.0 | 2.74 [ 1.200] 17.5 44.8 | 24.1 | 0.91 | 21.0 | 11.7 | 26.5 | 7.9 | 17.8
5-2 ¥y Bk 1.96 | 24.3 .72 [ 0.725 ] 19.6 32.3 19.3 | 0.38 | 13.0 | 18.5 | 45.3 | 15.6 | 37.7
6-3-1 krib 1.93 | 24.8 | 2.65 [0.714| 19.3

6-3-2 5 i

6-3-3 TR R L 1.97 25.9 .72 [ 0.738 | 19.7 32.0 19.1 | 0.53 | 12.9 | *14.7 | %30.6

10-1 KRS 1.97 | 26.5 | 2.72 [0.747 | 19.7 33.0 | 19.8 | 0.51 | 13.2 | 16.9 | 38.7
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=] JE45 Ja FLI L JEAE R IR oy | KB | R
. " R | R O8N et | e
= & i g A I I e I AL |
+ + 4 | R | R | R Bs | R T | g | 60 | 40
e b uu Cuu " " o . [0.1-0.2 FEH TR
] e LB | FLER | FLBR | FLER 0.1-0.2 S . 40 20
= s (%) (kPa) (1/MPa) y8) )
5 s . o t | W (MPa) | Pe ® | @
(Z:élil N (Z:él:l eO 05 eo 1 eO 2 eO 4 (kpa) fak fa()
HeAmD) | AHEs : : : : (kP2) | (1kPa)
1-1-1 A TURE 0.831]0.808]0.771(0.722| 0.372 | 5.24 [177.4| 110 90
1-1-2 1 R *18. 7 %3.1 [0.989 [ 0.953(0.900]0.839 | 0.525 | 4.09 144 90 75
2-1 WA RS 1 4.5 0.3 1.185 | 1.106 | 1.008 | 0.896 | 0.982 | 2.45 |[134.3] 75 65
2-2 AR 3.4 0.3 1.493 | 1.381 | 1.241 | 1.087 | 1.397 1.96 |54.71| 55 45
3 TWAVEFURS 1 4.1 0.5 1.217 1.137 1 1.034 [ 0.917 | 1.036 | 2.32 |134.5| 70 60
4-2 A RS+ 0.72210.70210.6720.637] 0.260 | 6.75 |155.5| 190 240
4-2-1 K+ %18. 1 %5.6 | 1.137 | 1.085] 1.011[0.935] 0.747 | 3.13 180 100 90
5-2 w1 RS 0.696 | 0.677 | 0.649 | 0.615 | 0.247 7.13 169 210 260
6-3-1 iR 0.683 0.668 | 0.647 | 0.623] 0.206 | 8.61 180 200 20.4 | 17.7
6-3-2 G iR 25.0 (E) 300 400 17.1 | 23.9
6-3-3 EUR R T 0.721] 0.701 ] 0.665 | 0.620 | 0.353 5.02 200 240 10.8
10-1 R A 0.733 | 0.715[ 0.685 [ 0.644 [ 0.253 6. 96 210 250 14.3
10-2 E A RIR S = 20.0 (E,) 800 800 18. 1 16.2
10-2-1 = 30.0 (E,) 800 800
10-3-1 HR & XA K ANH] R 45 4000 | 2500
10-3-2 HR & AR ANH] R 45 3600 | 2200
10-3-3 | & MABREEIR R A ACIE 3200 | 2000
10-3-4 2 WAL R BR ANAT R 45 3400 | 2100
10-3-5 | HHEERALIR TR b ANAT R 45 1000 | 700
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" " an | wa | me | owe | 0| DR | S
+ + 20> 10> 2> 0.5> | 0.25> | 0.075> %g %é éﬁ) (ii}) flijiﬁz EIE
%Ea 4 10 2 0.5 | 0.25 | 0.075 [ .005 for fre o v N N63.5 | N63.5
5 PR (%) (%) (%) (%) (%) (%) (\Pa) (Pa) s10 | 10 (i (it (it
o e /30cm) | /10cm) /10cm)
1-1-1 R £ 6.031 | 4.863 | 5.0
1-1-2 T R £ 3.5
2-1 TN 4.351 [ 3.173 | 1.0
2-2 e 0.646 | 0.511 | 1.1
3 TRV UG £ 1.428 | 1.156 | 2.0
4-2 R £ 16.523 | 14.202 | 11.3
4-2-1 Rt 6.8
5-2 ¥y Bk 25.084|21.588 | 11.3
6-3-1 b 10.6 | 17.8 | 13.2 | 21.3 | 51.4 | 24.4 19.3
6-3-2 B ik 14.6 | 20.6 | 10.6 | 3.5 1.7 | 24.0 27.2 12.6
6-3-3 IR R L 13.0 | 16.4 8.1 4.5 2.0 | 48.0 16.9 34.6 14.3
10-1 4 WA 12.7 | 21.3 | 12.1 4.7 1.7 38.5 26. 1 47.1 17.5
10-2 s MACHD 5 13.4 | 22.5 | 10.8 3.0 1.5 33.4 46.9 17.5
10-2-1 S A IR 50. 3 18.7
10-3-1 & ALK 20. 5 21.0
10-3-2 E PR REe 18. 4
10-3-3 | & AuREEK I & 13.2 13.5
10-3-4 & WA ER A 16.5 16.8
10-3-5 | "PEEXAL TR Bk b S 0. 68 1.18
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